Checking E counter TDC status

Lingling Ma
04/13/12



Have finished checking the Production Run:
Result: 1) Eid=59 is normal, Eid=82 is dead.

2) There are two peaks at Eid 75-78, the distance is 200 TDC
counts(19ns).

3) Run Number:64704-64709, are junk.

4) Empty target Production Run: many E counters are normal(no clearly peak for
TDC difference distribution)

Run Number:64991-64994, 64998-65005,65065-65074, 65087-65095,



Run:64991(Empty target)

TDC difference between E counters and T counters
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